

# **Summary of Bids Received**

**Project:** Signal Equipment Installation 2014 (Base Bid and Added Alternatives A, B & D combined)

Section: 14-00000-11-GM

**Description:** LED Signal Head & UPS Installation

| Bidder                    | Address               | City, State, Zip        | Bond     | Bid Price           | % Over/Under<br>Eng. Estimate | \$ Over/Under Eng.<br>Estimate |
|---------------------------|-----------------------|-------------------------|----------|---------------------|-------------------------------|--------------------------------|
| Home Towne Electric, Inc. | P.O. Box 863          | Lake Villa, IL 60046    | Bid Bond | \$96,439.00         | -14.28%                       | -\$16,061.00                   |
| Meade Electric Co., Inc.  | 9550 W. 55th St Ste A | McCook, IL 60525        | Bid Bond | \$99,663.30         | -11.41%                       | -\$12,836.70                   |
| H&H Electric Company      | 2830 Commerce Street  | Franklin Park, IL 60131 | Bid Bond | \$129,735.60        | 15.32%                        | \$17,235.60                    |
| Contract Award Limit      |                       |                         |          | \$100,000.00        |                               |                                |
| Engineer's Estimate       |                       |                         |          | \$112,500.00        |                               |                                |
|                           |                       |                         |          |                     |                               |                                |
| Design                    | IDOT(2)               | Contract Bidder         | P        | T then Plan Rack    |                               |                                |
| Finance                   | Bid Tab File          | Resident Eng.           | A        | dministrative Assis | stant                         |                                |
| Construction              | Project File          | Request By Mail         | N        | 1gr Capital Prograr | nming                         |                                |
|                           |                       |                         |          |                     |                               |                                |
|                           |                       |                         |          |                     |                               |                                |
|                           |                       |                         |          |                     |                               |                                |



### **Return Bid Tabulation**

**Project:** Signal Equipment Installation 2014 (Base Bid and Added Alternatives A, B & D combined)

Section: 14-00000-11-GM

**Description:** LED Signal Head & UPS Installation

| Item No. | Pay Code | Description   | Quantity | Unit | Eng Estimate |              | Home Towne Electric, Inc. |              | Meade Electric Co., Inc. |              | H&H Electric Company |              |
|----------|----------|---|----------|------|--------------|--------------|---------------------------|--------------|--------------------------|--------------|----------------------|--------------|
|          |          |   |          |      | Unit Price   | Extnd. Price | Unit Price                | Extnd. Price | Unit Price               | Extnd. Price | Unit Price           | Extnd. Price |
| 1        | 85000200 | MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION                             | 13.0     | EACH | \$450.00     | \$5,850.00   | \$190.00                  | \$2,470.00   | \$11.20                  | \$145.60     | \$376.20             | \$4,890.60   |
| 2        | 88030020 | SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST ARM MOUNTED                           | 9.0      | EACH | \$900.00     | \$8,100.00   | \$572.00                  | \$5,148.00   | \$674.70                 | \$6,072.30   | \$511.50             | \$4,603.50   |
| 3        | 88030050 | SIGNAL HEAD, LED, 1-FACE, 3-SECTION,<br>BRACKET MOUNTED                         | 4.0      | EACH | \$700.00     | \$2,800.00   | \$507.00                  | \$2,028.00   | \$539.50                 | \$2,158.00   | \$427.20             | \$1,708.80   |
| 4        | 88030070 | SIGNAL HEAD, LED, 1-FACE, 4-SECTION,<br>BRACKET MOUNTED                         | 1.0      | EACH | \$850.00     | \$850.00     | \$587.00                  | \$587.00     | \$668.10                 | \$668.10     | \$510.00             | \$510.00     |
| 5        | 88030100 | SIGNAL HEAD, LED, 1-FACE, 5-SECTION,<br>BRACKET MOUNTED                         | 3.0      | EACH | \$1,000.00   | \$3,000.00   | \$666.00                  | \$1,998.00   | \$730.80                 | \$2,192.40   | \$581.20             | \$1,743.60   |
| 6        | 88030110 | SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST<br>ARM MOUNTED                        | 3.0      | EACH | \$1,250.00   | \$3,750.00   | \$745.00                  | \$2,235.00   | \$877.00                 | \$2,631.00   | \$732.90             | \$2,198.70   |
| 7        | 88030210 | SIGNAL HEAD, LED, 2-FACE, 3-SECTION,<br>BRACKET MOUNTED                         | 1.0      | EACH | \$1,600.00   | \$1,600.00   | \$1,061.00                | \$1,061.00   | \$1,073.50               | \$1,073.50   | \$847.90             | \$847.90     |
| 8        | 88030230 | SIGNAL HEAD, LED, 2-FACE, 1-3 SECTION, 1-4<br>SECTION, BRACKET MOUNTED          | 1.0      | EACH | \$1,800.00   | \$1,800.00   | \$1,141.00                | \$1,141.00   | \$1,146.10               | \$1,146.10   | \$934.10             | \$934.10     |
| 9        | 88200210 | TRAFFIC SIGNAL BACKPLATE, LOUVERED, ALUMINUM                                    | 8.0      | EACH | \$175.00     | \$1,400.00   | \$137.00                  | \$1,096.00   | \$58.50                  | \$468.00     | \$77.20              | \$617.60     |
| 10       | 88102717 | PEDESTRIAN SIGNAL HEAD, LED, 1-FACE,<br>BRACKET MOUNTED WITH COUNTDOWN<br>TIMER | 2.0      | EACH | \$750.00     | \$1,500.00   | \$669.00                  | \$1,338.00   | \$654.00                 | \$1,308.00   | \$652.90             | \$1,305.80   |
| 11       | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL)  | 1.0      | LSUM | \$3,000.00   | \$3,000.00   | \$3,000.00                | \$3,000.00   | \$1,456.00               | \$1,456.00   | \$10,117.80          | \$10,117.80  |
| 12       | X8620200 | UNINTERRUPTABLE POWER SUPPLY, SPECIAL   | 13.0     | EACH | \$5,000.00   | \$65,000.00  | \$4,775.00                | \$62,075.00  | \$4,921.30               | \$63,976.90  | \$6,947.60           | \$90,318.80  |
| 13       | X8803082 | SIGNAL HEAD, LED, 1-FACE, 3-<br>SECTION, BRACKET MOUNTED, RETROFIT              | 8.0      | EACH | \$250.00     | \$2,000.00   | \$204.00                  | \$1,632.00   | \$308.90                 | \$2,471.20   | \$165.50             | \$1,324.00   |
| 14       | X8803084 | SIGNAL HEAD, LED, 1-FACE, 3-<br>SECTION, MAST ARM MOUNTED, RETROFIT             | 18.0     | EACH | \$275.00     | \$4,950.00   | \$204.00                  | \$3,672.00   | \$308.90                 | \$5,560.20   | \$165.50             | \$2,979.00   |
| 15       | X8803088 | SIGNAL HEAD, LED, 1-FACE, 5-<br>SECTION, MAST ARM MOUNTED, RETROFIT             | 4.0      | EACH | \$450.00     | \$1,800.00   | \$301.00                  | \$1,204.00   | \$524.00                 | \$2,096.00   | \$286.30             | \$1,145.20   |
| 16       | X8803210 | SIGNAL HEAD, LED, 1-FACE, 5-<br>SECTION, BRACKET MOUNTED, RETROFIT              | 4.0      | EACH | \$400.00     | \$1,600.00   | \$301.00                  | \$1,204.00   | \$524.00                 | \$2,096.00   | \$286.30             | \$1,145.20   |



### **Return Bid Tabulation**

**Project:** Signal Equipment Installation 2014 (Base Bid and Added Alternatives A, B & D combined)

Section: 14-00000-11-GM

**Description:** LED Signal Head & UPS Installation

| Item No. | Pay Code | Description  | Quantity | Unit | Eng Estimate |              | Home Towne Electric, Inc. |              | Meade Electric Co., Inc. |              | H&H Electric Company |              |
|----------|----------|--|----------|------|--------------|--------------|---------------------------|--------------|--------------------------|--------------|----------------------|--------------|
|          |          |  |          |      | Unit Price   | Extnd. Price | Unit Price                | Extnd. Price | Unit Price               | Extnd. Price | Unit Price           | Extnd. Price |
| 17       | XXX10617 | PEDESTRIAN SIGNAL HEAD, LED, 1-<br>FACE, BRACKET MOUNTED, RETROFIT | 10.0     | EACH | \$350.00     | \$3,500.00   | \$455.00                  | \$4,550.00   | \$414.40                 | \$4,144.00   | \$334.50             | \$3,345.00   |
|          |          | Bid Total  |          |      |              | \$112,500.00 |                           | \$96,439.00  |                          | \$99,663.30  |                      | \$129,735.60 |



## **Return Bid Details**

**Project:** Signal Equipment Installation 2014 (Base Bid and Added Alternatives A, B & D combined)

Section: 14-00000-11-GM

**Description:** LED Signal Head & UPS Installation

|          |          |   |          |      | Eng Estimate |              |                |                |                |
|----------|----------|---|----------|------|--------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description   | Quantity | Unit | Unit Price   | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
|          |          |   |          |      |              |              |                |                |                |
| 1        | 85000200 | MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION                 | 13.0     | EACH | \$450.00     | \$5,850.00   | \$11.20        | \$376.20       | \$192.47       |
| 2        | 88030020 | SIGNAL HEAD, LED, 1-FACE, 3-SECTION, MAST ARM MOUNTED               | 9.0      | EACH | \$900.00     | \$8,100.00   | \$511.50       | \$674.70       | \$586.07       |
| 3        | 88030050 | SIGNAL HEAD, LED, 1-FACE, 3-SECTION,<br>BRACKET MOUNTED             | 4.0      | EACH | \$700.00     | \$2,800.00   | \$427.20       | \$539.50       | \$491.23       |
| 4        | 88030070 | SIGNAL HEAD, LED, 1-FACE, 4-SECTION,<br>BRACKET MOUNTED             | 1.0      | EACH | \$850.00     | \$850.00     | \$510.00       | \$668.10       | \$588.37       |
| 5        | 88030100 | SIGNAL HEAD, LED, 1-FACE, 5-SECTION, BRACKET MOUNTED                | 3.0      | EACH | \$1,000.00   | \$3,000.00   | \$581.20       | \$730.80       | \$659.33       |
| 6        | 88030110 | SIGNAL HEAD, LED, 1-FACE, 5-SECTION, MAST ARM MOUNTED               | 3.0      | EACH | \$1,250.00   | \$3,750.00   | \$732.90       | \$877.00       | \$784.97       |
| 7        | 88030210 | SIGNAL HEAD, LED, 2-FACE, 3-SECTION, BRACKET MOUNTED                | 1.0      | EACH | \$1,600.00   | \$1,600.00   | \$847.90       | \$1,073.50     | \$994.13       |
| 8        | 88030230 | SIGNAL HEAD, LED, 2-FACE, 1-3 SECTION, 1-4 SECTION, BRACKET MOUNTED | 1.0      | EACH | \$1,800.00   | \$1,800.00   | \$934.10       | \$1,146.10     | \$1,073.73     |
| 9        | 88200210 | TRAFFIC SIGNAL BACKPLATE, LOUVERED,<br>ALUMINUM                     | 8.0      | EACH | \$175.00     | \$1,400.00   | \$58.50        | \$137.00       | \$90.90        |



## **Return Bid Details**

**Project:** Signal Equipment Installation 2014 (Base Bid and Added Alternatives A, B & D combined)

Section: 14-00000-11-GM

**Description:** LED Signal Head & UPS Installation

|          |          |   |          |      | Eng Estimate |              |                |                |                |
|----------|----------|---|----------|------|--------------|--------------|----------------|----------------|----------------|
| Item No. | Pay Code | Description   | Quantity | Unit | Unit Price   | Extnd. Price | Min. Bid Price | Max. Bid Price | Avg. Bid Price |
| 10       | 88102717 | PEDESTRIAN SIGNAL HEAD, LED, 1-FACE,<br>BRACKET MOUNTED WITH COUNTDOWN<br>TIMER | 2.0      | EACH | \$750.00     | \$1,500.00   | \$652.90       | \$669.00       | \$658.63       |
| 11       | X7010216 | TRAFFIC CONTROL AND PROTECTION (SPECIAL)  | 1.0      | LSUM | \$3,000.00   | \$3,000.00   | \$1,456.00     | \$10,117.80    | \$4,857.93     |
| 12       | X8620200 | UNINTERRUPTABLE POWER SUPPLY, SPECIAL   | 13.0     | EACH | \$5,000.00   | \$65,000.00  | \$4,775.00     | \$6,947.60     | \$5,547.97     |
| 13       | X8803082 | SIGNAL HEAD, LED, 1-FACE, 3-<br>SECTION, BRACKET MOUNTED, RETROFIT              | 8.0      | EACH | \$250.00     | \$2,000.00   | \$165.50       | \$308.90       | \$226.13       |
| 14       | X8803084 | SIGNAL HEAD, LED, 1-FACE, 3-<br>SECTION, MAST ARM MOUNTED, RETROFIT             | 18.0     | EACH | \$275.00     | \$4,950.00   | \$165.50       | \$308.90       | \$226.13       |
| 15       | X8803088 | SIGNAL HEAD, LED, 1-FACE, 5-<br>SECTION, MAST ARM MOUNTED, RETROFIT             | 4.0      | EACH | \$450.00     | \$1,800.00   | \$286.30       | \$524.00       | \$370.43       |
| 16       | X8803210 | SIGNAL HEAD, LED, 1-FACE, 5-<br>SECTION, BRACKET MOUNTED, RETROFIT              | 4.0      | EACH | \$400.00     | \$1,600.00   | \$286.30       | \$524.00       | \$370.43       |
| 17       | X8810617 | PEDESTRIAN SIGNAL HEAD, LED, 1-<br>FACE, BRACKET MOUNTED, RETROFIT              | 10.0     | EACH | \$350.00     | \$3,500.00   | \$334.50       | \$455.00       | \$401.30       |
|          |          | Bid Total   |          |      |              | \$112,500.00 |                |                |                |